



## OFFICE OF THE GOVERNOR

## NOTICE TO PROCEED

DEC 2 1 2020

MR. IRWYN A. LUMUTHANG
Proprietor
LUMUTHANG SURVEYING OFFICE
Janssen Heights, Dampas District,
Tagbilaran City

Dear Mr. Lumuthang:

Please be informed that the attached Purchase Order No. 2020-865 dated has been approved. Notice is hereby given to immediately deliver the items enumerated herein within FIVE (5) CALENDAR DAYS upon demand of this notice at, BOHOL ENVIRONMENT MANAGEMENT OFFICE, SIKATUNA & TALIBON, BOHOL.

In view thereof, you shall be responsible for performing the delivery of items & services under the terms and conditions of the Purchase Order and in accordance with the Implementation Schedule.

Please acknowledge receipt and acceptance of this notice and be guided accordingly.

Very truly yours,						
	B	Y AUTHOR	ITY OF JE	IE GOVERNOR		
ATTY. ARTHUR C. YAR Governor Province of Bohol	t ga	TTY. KATI PROVINC	YOM FE	D. F SINTO		
Date Approved:	EC 22	2020			$\sim$ /	
Date Release to Suppl	ier:	DEC 2 2	2020	: [RW]	Authorized Signature	
Date Returned by the	Supplier	:DEC	2 2 2020	Pour	Authorized Signature Representative of the Bide	10.24 (7).4





Standard Form Number: SF-GOOD-58 Revised on: May 24, 2004

Standard Form Title: Purchase Order

PROJECT REFERENCE NO. 20-0220 P.R No. 2020-0691

PURCHASE ORDER
BOHOL ENVIRONMENT MANAGEMENT OFFICE
Agency / Requisitioning Office

Supplier		LUMUTHANG SURVEYING OFFICE	D.O. No.	P.O. NO. 2020	
Address		Janssen Heights, Dampas District, Tagbilaran City	Date :	JEC 2 1 2020	<u> </u>
-mail Add	ress		Mode of		
elephone	No.	(038) 501 - 7844	Procurem	ent :	
ΓIN .		918 - 980 - 448 - 000		PUBLIC BIDDIN	iG .
Gentlemen/	Mesdame	PSW ACCOUNT ON MICHIGAN PER ACRES OF THE WORLD WITH THE PROPERTY SWITH COLUMN	uran and very susception	neromacino como de la como de seguiro.	
Please	furnish th	nis Office the following articles subject to the terms an			1.0
Place of De	elivery :	DELIVERED AT SITE	Delivery Term :	Please rea	
Address		Sikatuna & Talibon, Bohol		upon completion	
Date of De	0.000	within 5 calendar days upon receipt of NTP	Trayment reini	apoir complete	on or denvery
Warranty Po	UNIT	1 year DESCRIPTION	QTY.	UNIT COST	AMOUNT
ITEM	UNIT	NBWP - Northern Bohol Water Project, Sikatuna, Talibon,			
		Bahol			
		Topographic survey covering dam and submerged areas, water treatment and storage areas including access road			
1	ha.	Dam Aspect	9	15,000.00	135,000.00
2	ha.	Submerged Area	60	15,000.00	900,000.00
3	ha.	Water Treatment Area	3	15,000.00	45,000.00
4	ha.	Storage Area	2	15,000.00	30,000.00
5	ha.	Access Road	2	15,000.00	30,000.00
		Profile Leveling and cross section at 20 meter interval			
6	km.	River Bed, 30m width	3	60,000.00	180,000.00
7	km.	Access Road; 20m width	1	25,000.00	25,000.00
		Boreholes/Soil nearing test, Test Pits and Water Pressure Tests including drawings, reports and recommendations			0.00
8	nos	Spil Boring Test (20m depth borehole)	12	65,000.00	780,000.00
9	nos	Test Pit	6	20,000.00	120,000.00
10	nos	Water Pressure Test	8	45,000.00	360,000.00
10	lios	Tempory and permanent benchmarks, level flags for maximum water height			
11	nos	30 x 30 40 cm deep bench mark	5	4,800.00	24,000.00
12	nos	15cm dia x 30cm deep	12	2,950.00	35,400.00
13	1000	Steel pins, 10mm dia with visual flags	50	100.00	5,000.00
:15	nos	CANADA AND AND AND AND AND AND AND AND AN	555	2455323	96
		x-x-x-x-x-x-x	Total L	ot Price	2,669,400.00
(Total Amoun	t in Words)	TWO MILLION SIX HUNDRED SIXTY NINE T	HOUSAND FOU	R HUNDRED PESOS	ONLY
In cas of one (1) p Conforr	ne:	me to make the full delivery within the time specified a prevery day of delay shall be imposed.  MUTHANG SURVEYING OFFICE ature over printed name of Supplier	Very truly ATT	yourskill Pr	E D. PIOQUINT MINISTRATOR C. YAP
		Date	Date Appr		1 70201
Funds A	vailable:		F15367509000		2268
		00000000000000	Earmark		2,671,000.00
		EUSTAQUIO A. SOCORIN	Amount		2,012,000.00
		Provincial Treasurer	1		





#### OFFICE OF THE GOVERNOR

### NOTICE OF AWARD

December 17 , 2020

MR. IRWYN A. LUMUTHANG Proprietor LUMUTHANG SURVEYING OFFICE Janssen Heights, Dampas District, Tagbilaran City

Dear Mr. Lumuthang:

We are pleased to inform you that the Procurement of TPOGRAPHIC SURVEY FOR THE PROPOSED EARTHFILL DAM PROJECT IN SIKATUNA, TALIBON, BOHOL FOR POTABLE WATER SUPPLY of the BOHOL ENVIRONMENT MANAGEMENT OFFICE under PROJECT REFERENCE NO. 20-0220 is hereby awarded to you as the Bidder with the SINGLE COMPLYING AND RESPONSIVE BID with a Contract Price Equivalent to TWO MILLION SIX HUNDRED SIX HUNDRED SIXTY NINE THOUSAND FOUR HUNDRED PESOS ONLY (P 2,669,400.00)

In view thereof, you are hereby issued this NOTICE of Award subject to the submission to this Office within ten (10) days from the receipt hereof, a Performance Security in any of the following forms:

a	Cash, Cashier's Check, Manager's Check, Bank Draft or Irrevocable letter of Credit (5% of the total amount of the Purchase Order)	Php 133,470.00
b	Bank Guarantee (5% of the total amount of the Purchase Order)	Php 133,470.00
C	Surety Bond (30% of the Total amount of the Purchase Order)	Php 800,820.00

Failure on your part to submit the required Performance Security within the period specified shall be sufficient cause for the cancellation of the Award and forfeiture of your Bid Security.

With this notification, you are required to prepare the items awarded to your company for delivery as indicated in the PO. Failure to deliver within the stipulated time will mean imposition of liquidated damages and other sanctions that pay deem fit pursuant to the provisions of Republic Act 9184.

ATTY. ARPAUR C. YAP
Governor
Province of Bohol

Date Approved:

DEC 1 7 2020

Date Release to Supplier:

DEC/41 8 2020

DEC 1 8 2020

Authorized Signature

(Name of the Representative the Bidder

Date Returned by the Supplier:

Authorized signature

(Name of the Representative of the Bidder)





#### **BIDS AND AWARDS COMMITTEE**

BAC Resolution Declaring Single Complying and Responsive Bid and Recommending Approval

RESOLUTION NO. <u>10-0978</u> Series of 2020

WHEREAS, the PROVINCIAL GOVERNMENT OF BOHOL caused the advertisement and posting of Invitation to Bid in the Newspaper, PHILGEPS Website, Provincial Government Website and at three (3) conspicuous places in the premises of the Provincial Capitol Complex, Tagbilaran City of the hereunder project:

Name of Project

: PROCUREMENT OF TOPOGRAPHIC SURVEY FOR THE

PROPOSED EARTHFILL DAM PROJECT IN SIKATUNA,

TALIBON, BOHOL FOR POTABLE WATER SUPPLY.

Project Reference No.

: 20-0220

PMO/End User

: BOHOL ENVIRONMENT MANAGEMENT OFFICE

PMO/ABC

: P2,671,000.00

WHEREAS, during the bid opening on OCTOBER 14, 2020 LUMUTHANG SURVEYING OFFICE drop its bid proposal for the said procurement;

WHEREAS, after the opening of bids, the bid proposal of the said bidder was found to be substantially complying;

Name of Bidder	Approved Budget for the Contract (ABC)	Bid Amount	Variance from the ABC
LUMUTHANG SURVEYING OFFICE	P2,671,000.00	P 2,669,400.00	P 1,600.00

WHEREAS, in the detailed evaluation of bids, LUMUTHANG SURVEYING OFFICE was declared as the Single Calculated Bid as Read and was recommended for post qualification;

WHEREAS, upon the conduct of post qualification by the Technical Working Group, LUMUTHANG SURVEYING OFFICE met the required legal, technical and financial requirements for the said project;

WHEREAS, upon recommendation by the Technical Working Group and verification, validation and ascertaining of all statements made and documents submitted by LUMUTHANG SURVEYING OFFICE the bidder declared as the SINGLE CALCULATED BID, successfully passed the Post Qualification process, thus the Committee now considered its bid as the SINGLE COMPLYING and RESPONSIVE BID for the said project;

**NOW THEREFORE**, We the Members of the Bids and Awards Committee, hereby RESOLVE, as it is hereby RESOLVED:

- To declare LUMUTHANG SURVEYING OFFICE. as the SINGLE COMPLYING and RESPONSIVE BID for PROCUREMENT OF TOPOGRAPHIC SURVEY FOR THE PROPOSED EARTHFILL DAM PROJECT IN SIKATUNA, TALIBON, BOHOL FOR POTABLE WATER SUPPLY Project Reference No. 20-0220;
- b) To recommend award to LUMUTHANG SURVEYING OFFICE. for PROCUREMENT OF TOPOGRAPHIC SURVEY FOR THE PROPOSED EARTHFILL DAM PROJECT IN SIKATUNA, TALIBON, BOHOL FOR POTABLE WATER SUPPLY in the contract amount of P 2,669,400.00;

c) To recommend for the approval by the HONORABLE GOVERNOR of the PROVINCIAL GOVERNMENT OF BOHOL the foregoing findings.

RESOLVED, at the OFFICE THE PROVINCIAL TAGBILARAN CITY,day of	PROCUREMENT MANAGEMENT UNIT, CAPITOL COMPLEX,, 2020.
NILO G. AHAT Provincial Legal Officer-GO BAC Chairman	GISELLER OUTIMPO Chief of Star VsC BAC Vice Chairman
PETER ROSS M. RETUTAL Provincial Budget Officer BAC Member	CESAR TOMAS M. DOPEZ Provincial Health Officer I BAC Member
Provincial Engineer BAC Member	LARRY M. PAMUGAS OIC- Provincial Agriculturist BAC Member
JOVENCIA B GANUB PMO/End User	
APPROVED:	ATTY ARTHUR C. YAP Governor
	Approved on